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Class Drill: Area Function @

The graph of f(t) is shown at right. Y | 4‘@)}:‘@1 Ll)
}

The function g(x) is defined by the equation \
= 1 \ f
9= [ ra
£=0 of 1 a2\ D t
g is an area function for f
(3, F(S)j :(S', -2)
Part 1: The first goal is to build a graph of gx)..
On the back of this page are eight copies of the graph of f(t).
(a) Using these graphs, make eight pictures that illustrate the quantlty2 x| glx)
ts
0
g(x) = f f(®)dt (3\ S }ma, 1
; 2[5
for the eight x values x = 0,1,2,3,4,5,6,7 10 3
4
(b) Using the pictures, find the value of g(x) for x = 0,1,2,3,4,5,6,7 and write those 5
values in the table at right. 6
7
(c) Using the data from your table, make a graph of g(x) on the interval 0 < x < 7.

Part 2: Questions to be answered without using your graph from Part 1.

(d) What is the value of g'(2)? 3[ 9-) Frel 9 ( 2) = L/
(e) What is the value of g'(5)? 3' [5) ’ch I Sj[s - ...l

(e) At what x value does g have a local max? W\\C e Ck an C} 'FN’"\ P ) 1" he
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